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Problems of the DayFLFl] Q"Q

| What are the missing digits? 3 The bee makes a half turn.

3| |+| |5|=|7|6

2 Annie and Ron each think of a
humber.

I'm thinking of @0
the humber 6

The sum of their numbers is 25
What is Ron’s humber?

Which way is the bee how facing?
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Problems of the DayFLFl]

What are the missing digits? 3 Find the size of angle b.

3| |+ |S|=[1|I]]

Annie and Ron each think of a
number.

I'm thinking of | (o[
the humber 6

The product of their nhumbers is 762
Work out Ron’s humber. White

Rase




